Ratio to OPAL

197 GeV ee y*/Z (Hadronic)
:I I I I I I | I I I:
107! &= —
- ﬁ\ |
102 & =
B g _
107 = \\:\:\ . =
: \\g:\\\\ :
10 = h :\:xg =
.| m OPAL \‘11: N
10 = - O-- Herwig++ 2.7.1 default 3
— --3-- Herwig 7.0.4 default -
L A Herwig 7.0.4 UE-MMHT |
10° &= =
:I | | | | | | | | | I:
:I T T | T T T | T T I:
2 E =
— o o) -
et FOSEEEER _
C o------ N e " ]
I

1 A &= —
m ———————————— —
0.5 |
1 1 1 | 1 1 1 | 1 1 1

2 4

Rivet 3.1.0, = 7.2M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


